REMNI FQG

- ER BT R o

- AJTERCEEEA o

- B mEERE -

- ARG G TH) -

- ATRER AT H H5EF 5 CE] 6000mm ©

B 5% RLTO \ RLTF \ RLO \ RLF
E=) il & = ®16~25~32~40~ 50~ 63
& == P ] BIE ~ RISHBNBREZER (NEE  BHEHMEN)
& K B 1 B A 7 kgf/cm®
= B R E & [EF -10°C~ +80°C ( T E#E )
HE: Eadi
RLTO - G1 - 25 - 1000 - U S 0o - Y 1 - L
R | R4 | A | AR ®mH || BB | 8® | mEEm BE | %3
/ HEOEE 16: ©16 1REK V:Viton || S:#sE ||o:fEs Y : AZRKH | |1 : 1pc mEE  mHm
RLTO FiigiT (e 255 ®25 HERIETEL U:PU L:i8E ||1: BEE K:AZRK ||2:2pcs L%
P - 23: gig * BATHEE %016 258
P .ﬁd&tgiﬂ) : 6000mm R AZRKH !
RLTE e 50 : ®50
— "’ - 63 : ®63
2" o g):a% RLF {#58
RLO ; $ 25 ~ 40!
- STENEE
e A
"?/RLF ot
U : ff;ZEnEE
* G2 {&5EMH
RLO-32!
E-N-E.
B : kg
ARG ®16 ®25 ®32 ®40 ®50 ®63
HEAZE 0.22 0.65 1.44 1.95 3.53 6.41
100 1TR2E & 0.1 0.197 0.354 0.415 0.566 0.925
ME xR
A EH M B
REIARE $EM BRI ERIE
BEE (JAE) AN P R IR
U 2= 38 0 [P A RIE
] 7, 58 Bh £l
i ES)as NBR ( AJ:&#Z Viton )
fHEEZ » BhEEN sy S

@ 01-01



EERE  RENI FRS’

BE - (EB A%

—Li’ﬁIE’J EIFRTER

- AJREFNES ~ ER AR -
- RERImIE@ERES ©
@ EENTERZZ W EENEEMNEIAEERNEERE (BRIFFERINMESE » 20 : JhEEES) -
@ TAHARBZEBEEAEKES - BERREFNEAE  AMEEHEREEIETEEZARISAZEIE
@ SRR NEEIELLV <0.5m/s EEAEAE o

EFTEHAMRERNE  BEEHINERNRS - EREENNEEZELR -

M=F - r SERETERIMIEERMMRERETE » F ST -

AR D16 »25 ®32 D40 ®50 63
IBSR1EF H7£ 6bar(N] 120 295 483 754 1178 1870
BRMIER S F, 1 6bar[N] 78 250 420 640 1000 1550
M [Nm] 4 15 30 60 115 200
=ANFE Ms [Nm] 0.45 1.5 3 6 10 12
Mv [Nm] 0.5 3 5 8 15 24
BEABT L[N] 120 300 450 750 1200 1650
EEREE [mm] 17 30 35 45

IS

m/s

STEHTEERE § - BAEE w1
BESARS RAT AIEE o SATAEVEALE ® 5
MEEREE » HHAERNR ol A NEARNNY
R~} o K 5 J \\\‘\\Q&
mg \\o \09 \\0\\}\\\
¥ BRI IARS RS ERE 2 PR g & @\%<$}%\
MEH ISR « 52 BB R M o NUNON TR,
SRIEMEAIREE o AR A{EBH AL i o) ANIA VI NN
16> ERIMMEEDS - & 03 NN RS
* {EFHNB R AE G 805 » T4 80
FAREI SRR @R i 0'10.10.20.30.5 1 23 5 10 100 1000 kg >
EREEEE

IR EAR R FIZN RO REL - FARSIEREFIEME R E EEEES -

@ 01-02



REMNI FQG

| ¥

BB e FAT BRI EE) » b ji=—-0 4 I %
U 1 AR T T TIE R B E . k | .k Kk
BB EER - BREMESHE

TS ARAES 5 » T N
RS » Bk 0.5mm B9 R 2 A STHY o 500
FhER s 1 2 ST AT A D32
fY » BRSBTS o \

400

00 [—== \\
200

D 16 \
D

8L

\ >
0.5 1.0 1.5 2.0 2.5m
"A £58t k
2600
2400
2200
2000
1800 [ 63
1600
% 1400
1w 1200 D 50 \
1000 \ \
) \
800 D 40 N .
600 N
N N
400 \ \\ \\
200 g ——
\ ‘
02 04 06 08 1 12 14 16 18 2 22 24 26 28 3.0 3.2 34 3.67m
PBRE K
ZEHIE 15
| — |
o
EEHTTIRRSRER S » FEUERAIER » & 3 :
SHEFIR 32 H R AR AR AL + 7 7E ok A

73R L3RI RERE

@ 01-03



®

pitt =kl | ReINI FSS

RLTO EHEREL / SN URST * A BHERETRERE » &x ATFERER 6000mm ©
,_ 41
QA ¢ 25 33
17.5 117
19 9 109
i T
N &
N ©
el BN 3 e 8
& \&)
p
M5x15 23
200 + 17%2
M5 50
N\
D \
OO Q)—— —O—— OO0
Q D
Q5172 _
100 752 100
RLTF ZEAEREL /SN IR * ] BEEETRERE » &R KT FERER 6000mm ©
B 33 16 117
QR ¢25
g —
DHE
-
K ©) @0
[s2]
&) 9/
325 25 25
45 200 + 1772
65
@ < O D
KeXo) & 00]
O 5 o ©
@5 E1TIZ M5x8
100 712 100
Ll ] ' il
©0 ‘ ‘ °®
\ \

@ 01-04



REMNI FQG

® 525

® 32

7.7

G114—"]

SETHETD) RUTF BHE R EEE, / SV R

@o

&
L 0 ° I
S=1 =
200+ 17#2
25 117 25
(@ © @ D
@ [®) L
100.5
%, | I \
Wb
N
¥600 4, 690
o 4 \e} ©®
ﬁ@@«ﬂ @@
\\@*’\ 40 %b

@

RLTF BH{E B EEAR 1 EH,, / HMUR <

NG

3] )
250+ 17%%
31 152 31
® © ©
C (iOE) ((OB)
B
180
10-M6x1 deep 12-\ . I,—4-¢ 9| deep 2.1
R sge
‘ © @9 & © @
o & & o o —

80
160

@ 01-05




mI2gEE.  RENI FSS

2\

b
I}

RLO TR/ JMYRSF * 7] B EEETRERE » RATFELER 6000mm °
ORE ©16 36
= & o -
09 ool ¢
< EoR o
M4x7L
2 108
22 55 69
6__ @
V O g :rr
3 e[ & @ fffffffffffffffffff —
\ gg

— \—M3X8L M5x0.8

130 + 1772

@/ TRE

65 1112 65

=" N|

RLO-G1 RLO BHE/BEEARIEEH, / FMRUR T

ORE ¢ 16

130 + 17#2
15 69 15

' O
g ©)

‘@ ©
55.2

31
—
 ade.
7
55

©
<

M5x0.8

—_—T0

M3x0.5-6H

252
40.2

| ) S— ) S— S S— . S—

@ 01-06



REMNI FQG

NEOR REREL / SMURST * 7] B EEIZITRER S ATHERS 6000mm °
ORE ¢ 25
41 17.5
33 9. 117
) | i ~ P
w ‘L@ ol o
;R [ © (1N — — = = — Y 1
o of |[F¥ ©
M5x15 ‘ ) 23
27 G1/8 200 + 1752
65
©0| 00 | &
5
M5x8L
100 1772 100
@5 T2 . . . -

& %)/

HEORERN RLO KHE/BEMRIEESH / FMURS * A BREFTERE - &RATHELEA 6000mm °

QAR ¢ 25

ey 2
o 37

%08
e 0] O
200 + 17#2
23 17 23
1 I
O, O
I el
O, O, g
643 1005
33 -
«©
] L T ™
v
n
<
~|©
|

|
35

69.5
&>
¢
28
i
lq_|

4-M5x15L | 233 6-M6x1-6H 40

2R
|\
@
74

N

182

@ 01-07



mi2mEs  RENI FSS

GG mema smRst * T E R TIRRE + RATTAELBIE 6000mm ©
@R 932
52 20.5
36 115 152
sgel | |
O=RO® s 8
3 e @ © 77 ‘%’;\\
N of [ N\
Z8 ©
"M6x15L ) 275
G1/4 250 + 17%2
90
© @ I
:EQII a0l |N
S S
M6
@5 T2
125 7 125
[0 I I
—D [() N
© ©
HEONENR RLO KRB REAR I EE / JMRURT * A BERERTIERE - AT EEE 6000mm °

ORI ¢32

< ©

N

o

L ° ° ||

NE= l n /

250+ 1772
27.5 152 27.5
1 1)
) (iOD @OS) o
180

76.1 10-M6x1deep12

/—4 ®9deep21

91

© @‘@ — @@ © e S
L} % © % @J b b CHNCORL
—

B @

@ 01-08



RANI FSS A

B==
AR SRR EL
SEGSEYAY RLO KiE g ezt EH / JMIRST * A BERERFTRERE » AT ELSEE 6000mm -
OATE ¢ 32
oA @
[ ° ° I
| [ =i
250+ 1712
27.5 152 275
TT@ ©NpE
ol | (@ @ | lo
180
86.1 10-M6x1 deep 12

/—4 ¢9deep21

©; @1@

—é—©©© @%r@J ©©©_é_

160

36
| 1

c@/\@ ©
91

w
[<2]
o
—|n

o Q)

@ 01-09



migsE@s RENI Fag’

73\ :I:

MRS | AR + ] B EEETTIZRE  BATFELBIE 6000mm ©
AT 940
152
90
< <
g £3 ! 3
X
4-M6x1

J|w B -
~
=) o X
/ N G1/4
G1/4
12 12
Zg N 4-M6x15 ™30 30
\_ 1/ 300+ 1742
G1/4 / \(31/4
@ 5 FE1TZ
150 R 150

--------------------------------------------------

@ 01-10



REMNI FQG

RLF @t AT | JNRUR S s« ] B RIS TRE R + RATFERRIS 6000mm °
QR v25 33 117
19 109
t 16
© () © l__
DHE 9 [
“Plels| |—-@) @0 oG
<>\ ﬂ(‘ G118/
32.5 \M4 25 25
45 200 + 1772
M5 50
—\
\
\
[60 *i‘&* 741“}'* 00]
w | |
@5 E(TTE
100 1772 100
| | | I
AL / MRS * A S EBITRE » BATHEEE 6000mm °
. Pq ?<:TI§ ¢ 32 36 135
19 125 25
T I 19 ‘1_4.
- @n@ "~
N o
)
NS
40 31 31
54 M5 250 + 1772
M5x7 100
30
\
\
\}) D D ©
()
@5 E1THE
125 Stroke 125
[l ] [ i
o O
&)

@ 01-11



migsE@s RENI Fag’

AR | SR 7] ERRIB(TIEEE + BATHELRE 6000mm o
@HE 040
%

R'l-; (-ﬂ
pvd
hd
A
hd
4
Y
A
hd

) I;I 3]

21
36

40
130
171
.06
£ © © I IZZN
o ol & T IS
< Gm o ™~ (0]
7/ \b‘
@ @ q o)
N
%, 12
49 g 30
300+ 1772
69

N @ @\G%

@5 ETIE
150 Stroke 150
N =

@ 01-12



RANI FSS' RLO ERf4

Aed e SEEIEE ¢ 25 ~ 32

BHERINEE  TITRESEIZVEEERMIEE - AEH U BT 4R EER

8 EEREIA M L - ZRERERE/IAIZEN T BHES : =

. SRS A ) e
. BEMN s
- [A—EEH N T,

- KRR [

WA AR SRR EE - '

RLO-U Rty ) J) HEIANGY * ] BREFTRERE - &RATFELEA 6000mm °

ORTE 25

51.4~54

RLO-U BRI i1l YIS aes * A BREFTIERE » AT ELER 6000mm o

OHE $32
76 . 168
EE R 75 4-965
s TN - —
8 [ ] o\ é};/ Ty
CAURS o
(R @ AR o T
I\, o) 8|2
< ~p D~
A -~ &/ &/
&yu /\QZ

@ 01-13



RLO i RENI FQS'

SEOSEN Standard type with Clevis mounting/ Dimensional features * Free choice of stroke length up to 6000mm.
® ¢40
168
11T 75 | |—!|[4- ¢ 65
s mTN\ @ /1
©) =
© oY
es EIHESY IHERSE ¢ 16 ~ 63
BR(ER ST / %28 A1
QR ¢ 16 ~ 32
l @D @‘ -2

TP el
SHEOREEIHERAILAL JR RSN ER b %
LB RIS A s A n
BADM » R R AT L EHEE - Ak [ AC
[EEBEEREM 2 R E R RIFE - - -
Of7E o DG A
HH
RLO ¢ 16 ~ ¢ 32 %7l BRI/ S C1 B
E i @ R7E ¢40 ~ 63
RLO ¢.40 ~ ¢ 63 37l
B LER
SRR -
NS
SCAkE FIRESE (—8)
\ﬁ\ E oU AB AC AD AE AF CL DG IRE] K
D16 18 3.6 18 10 14 12.5 15 1.6 26 20408 —
25 27 5.8 27 16 22 18 22 2.5 39 2010 —
®32 36 6.6 36 18 26 20 30 3 50 3010 —
40 54 9 30 12.5 24 24 38 — 68 — 4010
d50 70 9 40 12.5 24 30 48 — 86 — 5010
63 78 11 48 15 30 40 57 — 104 — 6010

@01-14



REMNI FQG

A8

il 5 RLM

£ il 2 S ®10+~16 25

f& F8 m i EE ~ RASHBHEEZTRE (NFE - BHMET)

E ) i K BE

£ B B H & ® 10 : 2.5 ~ 7 kgflcm® ® 16~ 25 : 1.5 ~ 8 kgf/om®

i & | 10 : 10.5 kgf/cm® ®16~25: 12 kgflcm®

f B &’ E &# [E 0°C~ +60°C ( F/&E#E)

@ B &® E & [E 10 : 150 ~ 1000(2000)*2 mm/s ¢ 16 * 25 : 100 ~ 1000(2000)*2 mm/s

fic =i % | ® 10~ 16 : M5x0.8 25 : Rc1/8
LS BAETIE ATRUETTRE
®10 150 ~ 200 ~ 250 ~ 300 30 ~ 600
»16 150 ~ 200 ~ 250 ~ 300 * 350 * 400 50 ~ 800
»25 200 ~ 250 ~ 300 ~ 350 ~ 400 ~ 500 50 ~ 800

* B BRI RST » RIS EERAERUE o

3] fE X 5%

RLM - 10 - 1000 - X S 0 - Y 1
| | | | | | | |
B 5 RS 1772 =i || HE TEE WERRE | B2
[ [ [ [ [ [ [ [
/ 10 : ®10 &ITRER X:NBR |[S: Ei&| |0:&% Y:AZRKH | [1:11&
RLTO 16 : ©16 HEY V:iViton | |L:185E| 1 KIEE K:AZRK |[2:21@
25: ®25 U:PU
BEEBRR R -
/A M=F Xr1 _
Ms =Fs Xr2
<>
F
Fs <—
= N
Mv =Fv Xr3 W1
l
—
|
W2 l
W3
. o M Ms Mv W1 W2 W3
3 1
BRI N - m(kgf - m) | N - m(kgf - m) | N - m(kgf - m) kg kg kg
RLM-10 6 (0.6) 5 (0.5) 5 (0.5) 13
RLM-16 6 (0.6) 5(0.5) 5(0.5) 13
RLM-25 26 (2.6) 25 (2.5) 25 (2.5) 30

@ 01-15



migsE@s RENI Fag’

2\

SEVES SIIRSE / fEREREL * 1742 100mm LUF » #2&RES 10mm o
* 1742 100mm( & 100mm) LIk » #EERE A 16mm o
O ¢ 16 .
w0
[} &Y
% BK
2. 1 ZFQ) 70 ) . 3 ©
\00‘003 7*0 | w S
S & 30 601N o M10x1
S5 ‘L"[ —
/
© 0 © 2
8 [ e 67 ? i €
©0© ©0 © ®
¢ o o o1 | |
Q o @ ©
®| 0 © @\ — & @ e
A \@> @1%
134+ 1772 @@L 155
151.5+ 1752 Qd’\& 23
,7'}.\'%
(4
[32)
o| O |4 e —DLs] |4+
@l ™ @ @\MS*Q8¢ o4 %.(
— D
& ps +
8.75 134+ 1752 8.75 e
SR | AR %7772 100mm LUF + @ REZA 10mm o
*17F2 100mm( = 100mm) Ll k@ #EERE A 16mm o
OAE 925 2
& 123 5
¢S{;q003 \446\ S
2 N7 26 8 b 2_._.415
Js il = & T Ry
2/ 1] % 0% o & & 11@
R 9 119 = - o T
P % 40 B 3 o 0.,
ey B R - X1,
S = P L5
AQ 7@7 2] ) —@ NS
%3 |
o> P
P 204.5 + 1712 }
222 + 172
©
© — U =
T ThGe M M
76
204.5 + 1772 4 +
ﬁ%’b?” j% 4}
. RN
N 167 + 1772

@ 01-16



REMNI FQG

A%

il i RLW
! "N & (o) 2x16 ~ 2x25 ~ 2x32 ~ 2x40
f& H Vi 2 B~ REHBNEEER (NEER » BEMEN)
= B @&’ E & [E 0°C~ +60°C ( T E#E)
SN R
RLW - 25 - 1000 - U S 0 - Y 1
| | | | | | | |
BY 5 RS 1772 =1 pE3Dicy TRE BiERIRE 2
[ [ [ - ‘ [ [ [ [
— 16 : 2x16 f@i;kl V:\Viton || S:EE ||0:E# Y : AZRKH | |1 : 1pc
T RLW 25: 2x25/ | HRIATE U:PU L:18% ||1:K#%| |K:AZRK ||2:2pcs
32 : 2x32 * BATHEER
. ¥ 91625
40 : 2x40 3600mm 2L AZRKH%
B~ fEBAOMA%E
o Syanu— mANE mRAIFE =RANIFE
RE ¢ E“";ﬂ;ﬁﬁj} [N] rERE Bending Moment [Nm] Torque [Nm] Load [N]
£ 6 bar [mm]
M Ms Mv L
2x16 185 20 8 3 1 240
2x25 480 35 30 10 6 600
2x32 850 41 60 20 10 900

Values are based on light shock free duty and should not be exceeded during piston acceleration.
Side bending moments should be avoided.
Operation pressure max. 8 bar.

@ 01-17



migsE@s RENI Fag’

2\

REERURL / FMRIRSS * A BREFTRERE - &RATHELEE 3600 mm o
(ERAVITRIIKFT RIFRIFTR )

%,
O’@@,o 70 45
YU © ¥ © Y
5 ® & & ® 5| 9| ®
S= © , © (L
140+ 1782
69

M5xo o : : y

150+ 7%2

@5 TH2

75 75

=10
1772

@ 01-18



BN

il

Al

RANI FoS' A R

ISR / SVBUR T + T B EEIRITIR RS » SATTAEAEA 3600 mm o
(BERTREBERISAIETE )
@ 2x25
90
%*70 34
Q,
@,070
oL & ﬁ@ — 14
T |o ol =7 |7
o @ - - @ © g%
et +o EF
| 1) o .
215 + 1712
230 + 1772
117
L
] LI
506 08 | |
© ©p @ © N N
< 4 |
@ o e®@ © /@ @\ G
G S
102 /
15 15

230 + 1742

@5 THZ

115 1752 115




RENI FGG'

RLW Standard type / Dimensional features % Stroke lengths up to 3600 mm.
(Longer strokes available on request.)
@ 2x32
446)(70 152
N 110
(® Q
PNy O~y SIS
Y U ® ® 7 |Y
& 4 |+ + ¢ || ?EE
G- °©° , °© iy
© ©
@
265+Stroke %5
8, %,
280+Stroke 2.2
R
%
109 152 %
ﬁc O O
[EXexc] [©00® - ° °
© ©ee©® © @
@ 0%g @
125 3% S
| %
15 227+Stroke 15
280+Stroke
@ Stroke
140 Stroke ) 140
L] L] r-— T - - - -~ o — 7
| |
o o E_ o o _E

@ 01-20



REMNI FQG

RLW Standard type / Dimensional features % Stroke lengths up to 3600 mm.
(Longer strokes available on request.)
@ 2x40
205
60 60
@ @1 I
A ﬁ © ©
4 hdll° ©! vt | @
§$$ 3 2 ol
& Al @ © ©
Qﬂ i O
| @ @
93.5 320+Stroke
| m| m|
PF1/4-

93.5

276+Stroke
300+Stroke
340+Stroke
@ Stroke
170 Stroke B 170
| O O | pomTTToTTITTTToTTToeooY Tyt 1
i [ o i
N P on
\ & \$

@ 01-21



